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| As an object is freely falling its acceleration is

O constant but not zero
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Question No 13

Temperature s measured with a
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Question No. 17
A pump IS needed 10 {ift 3000 L of waterin a minute 2 distance of an m. What power must the pump be able 1o detiver? (1| of water has a mass of 1 kg)

15 KW
)n K N
20 KW
30 KW

p- 3000x10x 30
60
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Total guestions in exam 25 | Answered! 7

Question NoO 18

an object 5 ihrown vertically prward. Durng s o0Imey downward, e
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n No.14

| When we heat a block of iron. the iron atoms:

———



iPhone





iPhone





iPhone





iPhone





iPhone





iPhone





iPhone





iPhone





iPhone





iPhone



|I||||I ""|I'

'. 51' n.l A il
i || ||||"|| J:H; ||I||I|||\|":| |I|1IIEIIL|:EI\I|II||| |IA|
||III ||IIII |I
'. ||I I| ||

.h\-‘"'.v@' ﬁ'\ i '1
[ \ﬁl\l\ll'

ll'l'hlﬁl .|I| |'|| Im

_,.:—___
—'__.—"_ﬁ'-='—_.—o—
_==_

il It":'n'”m":'ﬁ:'\ I

||1"| IIIII"‘I\I”::IQlll

i
W Il\,ﬁlil I||
% | %g

:| |||
il
w‘h

I '|

'! '| it
|||\I ||I"'||II

it

i m n'ﬁ"'”ln'
'.:f i {ﬁ'



iPhone



I " ?Iluu'f.

i

|f|I il
||| .I |]' |



iPhone



i ||||I
et '| il I|'|'|'|'|"' '”" IIlulm

| J |||||

i i

i |||'n|:||||||f?I 'l" !

.Ih”'ll'||"|"l||l | fl lflfll i hblhllf'l |'|,I'“||I'I

o
i I"l'l”{al‘h If Il

i II||II||I|I
il I"JI ,IHI:::I""M”I |' |



iPhone





iPhone





iPhone





iPhone



Question No. 11

A 10-kg of a substance absorbs 173 kcal of heat and its temperature rises from zero to 150 °C. What is
the specific heat c of this substance?

c=0.115 kealkg °C
c=10.515 kcalkg °C
c¢=10315 kcalkg °C

= 0.715 kealkg °C
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| Newton's third law states that for a force (1) applied from object A on object B, there Is a force (2) applied from B on A such that

@ farces (1) and (2) are equals in magnilude
@ force (1) is more than force (2)

© force (1) Is less than force (2)

© forces (1) and (2) are perpendicular

J
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~As an object is freely falling its acceleration is
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& constant but not zero.
& zero.
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. Question No. 17
How many kio joules of heat () wmust be given off by 15 kg of won (specific heat = 481 j kg °C) to cool
from 180 W a5 oc?
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Question No. 3

=or non-freely falling objects, terminal velocity means.

big Mmass o
R
zero velociy |

mall mass
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gas to liquid
() gas to solid

¢ liquid to gas
- liquid to solid
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Which of these can not be a unit of

heat :

BTU

WATT

CALORI
JOULE

—

Which of these can not be a unit of heat :
BTU
WATT

a~=xn o) Y
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Quiz2_Sem?2
Question Ho. 25
Al what speed does a 20-N weight have a linebc energy of 100 7

Syl L] (omabain degaall 8ydue phass
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swored 1

[ Tolal questions in exam: 25 [ A"

[
Question NO- 2
m height IS

s thrown vertically upward Its speed at the maximur

J An object |

l
| © equals the initial speed by which it was thrown
| © greater than the initial speed by which it was thrown

© zero

| © greater than the average speed
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The friction between wo surfaces increases as

area between the surfaces INCreases

the normal force betw

»en the surfaces decreases.

the coeficient of inction decreases

etween the surfaces increases
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MKCL OES Physics_QuizZ_Sem2_201 9

Total questions in exam: 25 | Answered: 0

Question No. 18

Neglecting air resistance, if a stone is thrown straight up with initial speed = 30 m/s, it will reach its maximum height after (use

~10s
3s

6s
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Total questions in exam: 25 | Answered: 0

Question No. 19

Gravitational potential €energy of an object is due to its

temperature
position
velocity

acceleration
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25 | Answered @

Tota quesim i e

Question No 4
¥ the spocd of an obyct ncreases ive tines. 5 KInetic nergy Increases.
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Total questions in exam: 25 | Answered: 0

Question No. 20

as it hits the

A rock falls from an edge of a mountain 45 m above the ground. Find its s[
ground? (use g = 10 m/s?)

40 m/s
20 m/s
10 m/s
30 m/s

T e
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Physics_Quiz2_Sem2_2019

tal questions in exam: 25 | Answered: 0

uestion No. 25

 what speed does a 20-N weight have a kinetic energy of 100 J?

40 m/s
20 m/s
10 m/s
' 30 m/s
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\\ Quesuon NO 2

]

o

| if no net force acts on @ moving objec

|

© increasing velocity
@ zero velocity
@ increasing acceleration

@ zero acceleration
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Total questions in exam: 25 | Answered: 4

Question No. 15

The law of action and reaction is Newton's:

U Inertia law
Second law
Third law
First law
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otal questions in exam: 25 | Answered: 4 STl

Juestion No. 18

f an object is falling with an acceleration that is less than the acceleration due to gravity, the object:

& must have big inertia.
2 must have a small mass.
9 is non-freely falling.

9 is freely falling.
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Total questions In exam 25 | Answered: 19

Question No. 21

A force of 1 N is the same as

1kgms
1 kg m/s/s
1 kg m/s

1 kg s/m
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The friction between wo surfaces increases as

area between the surfaces INCreases

the normal force betw

»en the surfaces decreases.

the coeficient of inction decreases

etween the surfaces increases
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[‘fbiél questions in exam: 25 | Answered: 7 il

Question No. 22

If there is a net force acting on a moving object, the object must be:

small
moving with constant velocity
large

accelerating
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[ Total questions in exam: 25 | Answered: 8

Question No. 23

Which of the following do not help reducing (%) kinetic friction:

) using Teflon
using heavy weights
using smoother surfaces

using lubrication (<w 3)


iPhone



MKCL OES

Physics_Quiz2_

| Total questions in exam: 25 | Answered: 0

Question No. 3

In the Fahrenheit temperature scale, water freezes at

Save & Next i), s
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Total questions in exam: 25 _|/Answered: 0

Question No. 6

Temperature is a measure of the an object
|

© volume of

© area of

© hotness or coldness of
© color of
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Physics_QuizZ_Sem2_201 ¢

Total questions in exam: 25 | Answered: o

Question No. 9

You applied a horizontal force of 200 N to Push a level table but the table remaine:

d at rest. The static friction force is
Y 20 kg
“ 20N
& 200N
200 kg

ave & Next jAdl, e
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Total questions o exam 28 | Avswerad 3

oRm——— |

Question No. 24 n - H

As an object is freely falling, the speed by which it hits the ground is

m Z -

Zero
smaller than the initial speed
maximum speed during the motion
same as the initial speed.
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Question No ¢

.

If no net force act

Pythagoras pring

Newton's first

A
' id'W

Newton's 1

econd

Newton's third |

| sive e |
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A 15 N object is freely falling from

1 helght of 100m n
energy after it falls 25

S Kinetic
Of its initial int is
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One kilocalorie is the an L of heat 1 s
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Question No. 3

As a vase is falling down from a

potential and kinetic energie:
potential energy increases
kinetic energy decreases

potential energy decreases



iPhone



Physics_Quiz2 Sem1 2019

ToAN Quentions 1 weaw 39 [ Aviwered 9

S mom -
M
srwformly from 20 mvs 1o 30 m s after :

An object travels in straight line and increases s spoed

covering 100 m. Its acceleration is
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Physics_Quiz2 Sem1 2019
Total questic inexam: 25 | Answered: 0

Question No. &

R S A e e
If a stone drops in a free fall from the edge ofa mountain, the distance it covers after 8 seconds is (use 9 = 10 m/sis)

©8om
@32m
© 320m
© 420m
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Question No. 22

A plle devver (als freely trom a height of 5 o

10mn
8 nvs
2ms

i mn

) A0OVe & ple. |
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auestion No. 3
peed of 10 m/

from a balcony and hits the ground with the 5 5, he palcony's hek

it a rock falls

@ 10m
@s5m
@ 40m
o 20m
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' Total questions in exam: 25 | Answered: 6

Question No. 2

Atemperature difference of 100 degrees Celsius s equivalent to a temperature difference of 180 degrees Fahrenheit. Tt
temperature difference of 75 degrees Celsius is equivalent to

20 degrees Fahrenheit
135 degrees Fahrenheit
75 degrees Fahrenheit

25 degrees Fahrenheit
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Question No 1

A temperature difference «

temperature difference
that a temperature differ
to

18 degrees Fahrenheit
12.6 degrees Fahrenheit
9 degrees Fahrenheit
20 degrees Fahrenheit
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Question No. 25

(A ] A [n
If a car's average Speed is 40 m/s on a 5-hour trip. the |

distance it covers is

D
o

540 km
450 km
504 km
720 km
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| Question No. 1

| A tlemperature differe
| temperature differenc

nce of 100 degrees ¢

elsius s equivale
€ of 3 degrecs

tio a
Ceisius ig equivalent 1o

lemperature dfierence Of 180 degrees § ahronhet Thn !;m.-.

) 45 degrees Fahrenhen
25 degrees Fahrenhent
54 degrees Fahrenhent

5.4 degrees Fahrenhelt
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Question No. 15

If no net force acts on a moving object, it will have

M | © Increasing acceleration
j 2 zero velocity
increasing velocity

no acceleration

|

I

i o e .

BRG0G0

o
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A 1500-kg car with kinetic er ergy of 780 k 3pproximately qoing
speed of: \

vith a
willi a

116 m/s
32 km/h
116 km/h
90 km/h
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Physics Quiz2 Sem1 2019

Total questions in exam 25 | Answered: 22

e

A ball is dropped from the top of a building. It has a velocity of 31 m/s
when it hits the ground? In order to find how tall is the building we can
use two of the following equation:

L Vi=V;+at 2.S=vt+3gt° | 3 g=98ms |
| 4 Ve=gt | 5 S=igt" | 6 vi-vl=2as |
only 3
1and 3
only 5

4and5
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Queston No 14

A painter of mass 68

increase in graviiatior

3.15 J
31.5kJ
31.0J
3.4 kJ

)

o

Iz
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lotal questions n exam: 25 | Answered 1

Question No. 2

AS an object s freely 1Talling its acceleration s

ncreasing
270
posiiive and constant

gecreasng
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Question No 7
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Question No. 12
IVV() ‘f-’()fy‘ff'- PDUSH 1IN the ama i s " y n-“

N. If one pushes with a force of 500 N a : rictional force of 700
force is ey e of 400 N. the net

800 N

200 N

1600 N

600 N 1
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Question No. 20 i

The kinetic energy (KE) of a 1.5 ton car traveling at a speed of 30 mvs c

1. P=PE/t

4. 1 ton = 1000 kg

Wing equation(s)

©35and 6
J2and 6
1and 2

4and 5
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Newton's first law
Newton's second
Newtor i 118



iPhone



ysics__QuizZ_Sem £

| Answered 0

23
10 the ground)

Queston NO
[ (relative



iPhone


iPhone


iPhone


iPhone





iPhone



Question No. 1

During change of phase of a substance, its temperature

K
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Question No. 7

|

A 50-N object Is treely falng from a height of 20 m. Its kinetic energy afler 4 falls 50%

of 25 ntial heght is
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Question Mo. 2

Which of the folloning lemperZuxes 5 ‘V’J::o:‘?;DF aow D TeZSwE?

@ -2718°C
@ 7645 °C
@ -200 °C
@ -274°F
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Question Mo 23

kgms
kg m/s/s
kg m/s
kg s/m

The newton (N) it

Physics sz2_Sem!_20!9

'
\ 2111
s the I f4q 2 i

0
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In the Fahrenheit temperature scale the absc ute zero (0 K)
approximately at

-273 °F
-460 “F |
263
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 Total questions in exam 28 | Answered 4

8 -
The heat omv rization of a liquid is the heat that 1kg of the liquid needs to

2 change to gas N
# change to liquid
freeze N <

change to solid I il
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- |/*200.2 kJ
- |le19.2 kJ
SR +33.5 kJ
B +31.7 kJ
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ot questions in €xam’ 25 TXngukréd: 5

’ Question No. 1

|
Condensation s the change of phase from

fiquid 1o gas
solid to liquid
gas to hquid
liquid to sohd

ave & Nexr
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| @302°F
f | @320°F
] | @ 203°F

1 ." 1 1 |\ ] TR , TR R T
‘ ! ) { L
l Y e
" Question No.2 : ‘ Y Lo
| A temperature of 150 °C equals:
‘| @ 220°F

:

—

Save & Next

182.160.6.20 A MKCL OES )
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Total questions In exam: 256 | Answered: 0

Question No. §

In the Celslus temperature scale, the absolute zero Is at

Q 273 °C
@0°C

-100 °C
273 °C
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Question No. 20

A temperature of
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Question No. 4

The acceleration of a freely falling object is

the acceleration due o gravity

greater than the acceleration due to gravity (g)
serfo

'ess than the acceleration due to gravity
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Question No. 20

In the Celslus temperature scale, the absolute zero Is atl

0 °C
“‘() u(.
273 °C

273 o
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Question No. 14

with no an resistance and no n iction

Swing just once

sSWing only 10 times

sSwWing forever

sSwing Tor short time

d Swinging pendulum would
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Question No. 1 1

if there is a net force acling on a moving object, the object must D€

large

accelerating

small
moving with constant velocity
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Question NoO. 4

In the Celsius temperature scale, water boils at

373 °C
’ )/; n(w

100 °C

212.°C
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Question No. 12

A temperature of 50 °F equals
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Question No. 7

The weight of a 100-kg man on the Moon is (use g = 1.6 m/s/s):

© 1000 N

© 160 N

© 980N
100 N
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Question No. 15

In the Fahrenheit lemperatureé scale. the absolute zero (0 K) is approximately at

O
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Question No. 3

AS an object is freely falling. its downward speed is:

constant

®
increasing
Zero

decreasing
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Question No. 7

An object has a weight (mg = 10 N). It moved by the effect of a single force of 20 N. The acceleration of the object is

=
10 m/s/s \[\ﬂ O& \

2 m/s/s

5 m/s/s V\[\( [D\ :\O

20 m/si/s
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Question No. 8

An object that has big inert\a\must nave: ,

DIg mass
small mass
DIg area

DIg volume
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Question No. 4

A falling object is in free fall if we can neglect :
— 8

gravity :ﬁ/f
the object’'s mass

-
fﬂf\_gA
the object’s weight =

air resistance












Question No. 17
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